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@D 6900a, 69m?
® 850ha, 8.5a

® 4a, 40m?

@ 5km?, 500000 m?

@780000 m?, 78ha

~&B

@ 6900 a = 690000 m?
@ 5km? = 5000000 m?
® 850 ha = 85000 a

@ 4a=400 m?>




@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?
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@® 0.02km? @ 0.2ha (3)2000a

@ 20000 m? ® 2ha

B

T e 92 1A A vlus) FYrh
@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha




@ 3kg =3000g @ 4t = 4000000g

@5.5t = 55000000 g @ 6t = 6000kg
® 120t = 120000 kg

® 5.5t = 5500 kg = 5500000 g




FAZY 22 AAr 250 7§e] FA7E 9.5t o2kl

A= 2 kg A FOHA L.

kg

9.5t = 9500 kg ©] 22 9500 + 250 = 38( kg) YUt
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1060000 cm?

(15 x 8) — (7 x 2) = 120 — 14 = 106( m?2) = 1060000( cm?)




ha

240 x 150 = 36000( m

2) = 360a = 3.6 ha




3700000( ) =370( )= 3.7km?

® m?, cm? @ m?, a @mQ,

ha

1km? = 100 ha = 10000 a = 1000000 m?
et AL AU E m?, ha 91 @¥o]
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25+2-36%x10+2
= 570(m?) = 5.7(a)
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» Eh ha

[> HEH: 12000ha

15 x 8 = 120( km?2) = 12000 ha
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1. 7 £-2000000 g L. 6000000 g+5 t
. 4000 kg-+800000 g 2. 12 t-620kg
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1. 7t - 2000000 g = 7000 kg — 2000 kg = 5000 kg

L. 6000000 g + 5t = 6000 kg + 5000 kg = 11000 kg
T. 4000kg + 800000 g = 4000 kg + 800kg = 4800 kg
=
5

. 12t - 620 kg = 12000 kg — 620 kg = 11380 kg
== lleT=15
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0 x 5.5 = 4070( kg) = 4.07(t)
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400m?2 = 4a O|BE =2
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26 x 250 = 6500(kg) = 6.5(t)
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(AP can yol)
= 88600 — (250 + 390) x 230 + 2
= 15000( m?)

AE T2 9] 4o])= 15000 x 2 + 150 = 200( m)
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16. o= 2HY g2 o] Aol FAE 12,54t AU o] Et 1a 9]
A= 2 kg U 7H?

=i kg

>
[> ®E ! 220kg

B ~
Aol yol
=95 x 60 = 5700m? = 57a
12.54t = 12540kg
1a 9] 7] = 12540 + 57 = 220kg
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(ArchE]EC] Hol)

= (350 + 480)x (=°])+2 = 166000
(3°])= 166000 x 2 + 830 = 400( m)
(A7 Le=9 §ol)

= 480 x 400 + 2 = 96000( m?)

96000 m? = 960a = 9.6 ha
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AHE 1L e e ol2 ] Jem 2 8HH(1204200)x |+2 =
28800 ,

[ ]=180(m)

ActaE 1L m a9 Yol

28800 + 2 = 14400( m?)

AE L0 Fo|2 aem 21 5

(120 +[ ])x 180 + 2 = 14400 ,

A =40(m)
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[> H=: 24ha

800 X 600 + 2 = 240000( m?)
= 240000 m? = 2400a = 24 ha
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B 7|A 2 1 A7) At 2=
196 =+ 2 = 98( kg) YUt
1.35t = 1350 kg |22
1350 + (82 + 98) = 7.5(AI1ZF)

7.5 A|7t= T AIZF30 =
wahA 7 x 60 + 30 = 450(2) YUtk




